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Questions

Question Image

Question Image

If f(x) = X%~ x then f(-2) is

If f(x) = x2- x then f(2) is

If f(x) = x2-x then (1) is

If f(x) = x2-x then (0) is

If f(x) = -x3then f(-2) is

If f(x)= X then f(-2) is

If f(x) = -x2then f(-2) is

If f(x) = (-x)2then f(-2) is

If f(x) = x2then f(2) is

If f(x) = x2then f(-2) is

If f(x) = x2then f(0) is

If f(x) = x2then f(0) is

Question Image

If y is an image of x under the function f, then we write

Answers Choice
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one of these

N = O

one of these

f(x) = x<sup>2</sup>
. f(x<sup>2</sup>) = x
f(x) =x

. none of these

Or» DOW> DOWr UOW>r DOE> DO®» UO0W» DOB> DOD»
e
N N

< <
noltn

X =2 =h
=%
=



17

18

19

20

21

22

23

24

25

26

27

28

29

30

Question Image

Question Image

Question Image

Question Image

A function from Xto Xis denoted as

A function from Xto Y is written as

Arule or correspondence that assigns to each element xin Xa unique elementy in Y is
called a function from

A rule that assigns to each elements x in X a unique element y in Y is called a

The range of function f(x)=-x2+2x-1 is

Inverse of the function y-10x is

If f(a) = b2 and g (c) =d where c=b2 then (gof)(a) is

The set of points {(x,y)ly = f(x), VxE} is called

If f (x) = 2x+1 then fof (x) = ;

The function f(x) =|x| is a/an function
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. none of these

. pre-image
. constant
. none of these

images

. constants
. none of these

. range of f

. both (a) and (b)
. none of these

x=1(y)

. x=1(x)
-y =f(y)

f:XtoY
f:YtoY

f:YtoY

Xto X

Y to X

. none of these

range
function

. none of these

. Relation
. Graph of f

. All are correct
. 2x+3

LAx 1
. None of these

Odd

. Both even as well as odd
. Neither even nor odd



